veuly Weldinaeuy atteliby
Va e &t

MIG : BINZEL-501D

Red Tube - Water In

Bluc,'_l'ubc Water Out

MIG Welding Replacement Parts

~ .
PART PART
ITEM DESCRIPTION PRICE ITEM DESCRIPTION PRICE
1 MB5004A CYLINDRICAL NOZZLE 20MM 145.0051
17 | MB5006 CABLE SUPPORT MACHINE SIDE 501.2379
MB5004 CONICAL NOZZLE 16MM 145.0085
18 | MB5007 ADAPTOR NUT 501.0213
TAPERED NOZZLE 14MM 145.0132
19 | MB5008 CENTRAL CONNECTOR 501.0015
MBCTO08 CONTACT TIP 0.8MM. M6x28 140.0051
MBCTO09 CONTACT TIP 0.9MM. M6x28 140.0169 20 NUT M10x1 501.0082
4 MBCT10 CONTACT TIP 1.0MM. M6x28 140.0242
MBCT12 CONTACT TIP 1.2MM. M6x28 140.0379 21 VCLBZ2 CONDUIT LINER 0.6.1 OMVL 3.5
MBCT14 CONTACT TIP 1.4MM. M6x28 140.0382 o1 OWM. 3.5m
MCLBZ4 CONDUIT LINER 1.2-1.6MM. 3.5m
MBACTO8 CONTACT TIP 0.8MM. M8x30 140.0114
S MBACT09 CONTACT TIP 0.9MM. M8x30 MCLBZ5 CONDUIT LINER 1.2-1.6MM. 4.5m
MBACT12 CONTACT TIP 1.2MM. M8x30 140.0442
MBACT16 CONTACT TIP 1.6MM. M8x30 140.0590 MCLBZT TEFLON LINER 1.2-1.6MM. 15FT.
6 MB5003 GAS DIFFUSER 030.0145 N/S | MB5W3B MIG WELDING TORCH 3M.
7 MB5002 TIP ADAPTOR M8 501D MB5W4B MIG WELDING TORCH 4M.
8 MB5002A TIP ADAPTOR M6 501D
9 MB5005 INSULATOR 030.0019 THER
10 MB5001 SWAN NECK 034.0001 BBRLOL ROLEERIOESCOMME
MBRLO8 ROLLER 0.8-0.8MM.
11 MBHDS HANDLE 180.0076
MBRLO9 ROLLER 0.9-0.9MM.
12 SWM-03 SWITCH 185.0031
MBRL12 ROLLER 1.2-1.2MM.
14 SWITCH CONNECTOR COLLET
MBSCB STANDARD CONNECTION BLOCK
1 MBSP PRING CABLE SUPPORT 500.022
£ SPe SPRING C SUPPORT 500.0225 MBSCB SPOOL HOLDER
16 CABLE ASSEMBLY,3M
CABLE ASSEMBLY,4M
CABLE ASSEMBLY,5M

Copyright 2003 ; Craft Skill Co.,Ltd. Tel.+66 2 894 1750 (AUTO) Fax.+66 2 894 1788 WWW.Craft-Skill.com



